
STREET SCENE EQUIPMENT,INC. 950-70319

365 McCormick Avenue 2003-2007 NISSAN 350Z
Costa Mesa, CA. 92626 GEN 2 FRONT SPLITTER 

    Phone (714) 426-0590 Fax (714) 426-0591 FOR 950-70318 BUMPERCOVER
URETHANE

     INSTALLATION INSTRUCTIONS

NOTE: Fit all parts before painting (See Special Instructions For Paint Prep.) Parts that have been 

installed, preped, or painted are not returnable.

NOTE:

        Check fit all body parts PRIOR to paint. Follow urethane prep instructions before painting. Take

your time and pre-fit all pieces so that they will have a tight fit to the body.
VERY IMPORTANT! Read and understand all directions and check the following parts list before starting

installation. 

NOTE:
The 950-70338 Wing is mounting on the rear window glass just below the roof line.

PARTS LIST
1       Front Splitter 1   Instruction Sheet 6        M6X25MM Hex Bolts
2       Turnbuckles 1 Urethane Prep Sheet 8        Self Tapping Screws
6           M6 Nuts 12     6MM Washers

TOOL LIST

      Assorted Sockets & Wrenches,Phillips and Flat Head Screw Drivers,Drill & Drill Bits

1.    Jack up the front of the var and support with jack stands. A lift would be ideal.

2.    Test fit splitter onto fascia using picture (Fig 1) as your guide.

3.    Once satisfied with placement use duct tape to hold splitter in place and drill holes for the M6 bolts through
       both splitter and fascia in 3 places on either side of the splitter opening. As shown in (Fig 2) as well as the 

       center hole for the center support.

  Page 1     09/10/2015 SSE 950-70319



4.    Install M6 bolts with washers through spillter/fascia and tighten with M6 nut and washer. The longer bolt

       will go through the center support 
5.    Test fit stainless steel turnbuckles as shown in (fig 3) and mark mounting hole locations for drilling . Drill 

       small pilot holes through fascia and splitter and mount turnbuckles as shown in (Fig 3) repeat on other side.
6.    Adjust turnbuckles to elminate play and stiffen up splitter.

7.   Done! Enjoy your new Street Scene front lip!

  Page 2     09/10/2015 SSE 950-70319


